933039600090 06M03MIYFHOR0PM0 Logm®EIgooL Yob03gMOLOM YOO
3m3mmgo®o 0630M00bE0

30M®g0 boomgodgzomo

0l 9bEM0d MoBIodol Labgmmdol JomgdoEozol 0bLbE0EYE L
30bx3gcgb00, d0dmgbomo gom®Mgo dobxogzodolb 100 s bmwo® 0gtozodzomol 95
Penobomogobowdo
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C*-0mago®mgoo

C*-00gg0Mo0 oMol 0060bOL veggdo®o C-8g, Lowor ImEgdPmos dLebgs x — x*, olg G™J
1. x = x* Mo vemggo®ob LEy®YJHNOoL dgdbobggmo 0bgmemygios (Jgymmgoos);

2. [boctl = [IxII*.

0dmEgbodg dogomomo

> C(X,C), 9f93980 BabJIg0gde X 3md3sdEam dogbeadgob boghegby;

> Co(X,C) mmzomgdon 30330ddamo X-o0bmgol;

> B(H), 898mbobmgdgmo fOHx030 m3gMagm®dgoo H 3083mgdua® 30mdghEol
bogdgvY;

> B(H)-b g39-C*-00ma9000, 30H®03g00lL oemagdme M,(C);

> 3mb 6003060 0eagd™Mgo0, XZIBOL/RZIBM0EOL C*-0agoM, 3MORJoOL

C*-omggomygoo. . .




3M03M3YEOROPM0 BHM3MEMB0d

L£EHauP Ci> Com*-alg
0

> Moo 3md3odHgmo dogLom®maol Log®mEggool 3oBgam™Mosd 3maYGHOEHMo
C*-0mgg0M900b 30B93m®00L 9330300 gbEHM00 (POIEYMO®).

B™3mmmgoos, Co(X) omggomo, C*-omggodo A
proper sbobgo, 3mdgmdm®dEotdo dm®x08do, 0BmIMMe0Bdo
Bmdo, 3md3ogEHpcdo PN ©0700m0 7YbJombomo, ghmgymmgsbo
0o LodMogmyg, ho39H 0o LodMogmyg 00390, BOJBHMM-0e3goM
039mMO0, 2-900 MZMOWO 930mgJiom, LgdoEOd M Y&
BM3MMgogho K-0gm®oo M3gMOHMOmo K-mgmdoo

> (mM3omPcom 30d3s0JHamo donbomdaol X bLoghol bgoobdogmo mzgolLgos,
IgLodmgdgmoo B9bd300mo vemagddo Co(X)-0b gbabg 8oo0mo®Mzabmb; HoMow g
®30bgoo bgoobdog® 9MoZ3MAYBEOEFPYD C*-0cmggoMmoLmZgoLOE HMgowEgdo.



KK-0gm®oo
> HmgmdOE BHM3nmmgo® Log®dggol, CH-omggo®mgolLog dmdmmmgoydo
0030600063 g00m gLFogzmMom.
> C*-omggo®goty, bgoobdog®o ,LoobEgdgbm” dmdmmmgool mgm®ool g3bdEmdo H
30L30MMZoL 3oBHIaMMooL KR gogmom BoJEHMMEY0o.

C*-alg . B

N,

P> 530H™ma 3oBIaMMoo KKR-L Igbfogmo 139bsdgbEydos 9G03MIYHOF0YM
B™M3MM®3oodo.

306boBMgMmgoo
Ob(RR) := {Lgdo®adgmyg®do C*-omagddgdo A, B,...}; Morgg(A, B) := KK(A, B).

Omgm® gobodo®Egos KK(A, B)?



KK-00gm®oo Hmamd3 gobbmagomgoymo K-ogm®oo

3H00-10goOL oLz Mo LogMEggooL 3gJHMOPYmo 3Mbgool K-3mdmmmagool
306BMaogoom, 3o0g03900

Morgg(C, B) = KK(C, A) = K(A)
KK-0gm®M00ol K-ogm®ool 0969003 gobbmgomgoom Ho®mdmowmagbl.
030™d, gbowos, KK-mgm®oolb K-mgm®ool godmmgmobg moggebs ggbn®db.
MomoE 99dmbggggddo gl dgbodemgdgmoo.

960330LOYO0 3MIB0E0gbEJOOL MIMMITd (OMLgbogMg-LbhmbgEo 87)
003909300 A 300 3mabdo dgostg bLgdsmodgmYmo C*-omagodos. 3odob bgooLidogmo
B € KK-bmgol, s6bgdmol odgemgco 237993900L 9900930 dmzgmg $9LEo 30dggthmos:

Extap (K(XA), K(B)) — KK(A, B) - Ab(K(A), K(B)).




AR $®00b6879m00Hgdow0o 3oBHggmdoso.
P> LEHO00MYMO 30BHIZME00 LPbFo V0MMZIO00/3M00OMNZIO00.

30909 30393MM00d0, 330J3b Im3myg BabEo Jodwgzdmogdo

0 A B C 0
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AR $®00b6879m00Hgdow0o 3oBHggmdoso.

P> LEHO00MYMO 30BHIZME00 LPbFo V0MMZIO00/3M00OMNZIO00.

B®0003790MIdo® 30BIzMM00d0, 330d3L g.§. Lodzymbgwgoo

Nl

YA



303MEMZ07MHo 9agoMo

dobobo
330300 303MmMMZoMo dmZgome BHM0obamoMgoom 3oHgzmmoodyg T.

3bo

LoBgblg = 30mgdsogmo md0gddo —> 3OMYJE0Pmo BYBMmM3ggbEe — Hocdmgoywmo
B90JHm®go0 — - -

3bBo©o 3mdmmmgoydo smggo®mol LEOYJHmo T-Bg BHM0300eYM0o.

3M0-009m YO0 = LOJoMMO PdTFHJ00m0 LEHMPJEH M dTMMMZoPYDO 3 ZgoMOLmgol.




00OEM00m0 LOBYLEHY

> sdmgomhomm B9bJmmo
H: T — 2

> Lodggobge A — B — C — XA gghmommn H-5gb@o org

0— H(A) — H(B) —» H(C) =0

dmamyg B9bEo F0dwgzm M.
> 3mdmmmgoy®do gbdmdo F: T — B H-BgbEoo oy ol H-BgbEo Lodzgmbgogoo
dmgmg BbE 3000ggMmdgodo gowoygogl.



960390LOEYYO0 doobenmgoo

H-59b30 bLyodomY®do drdmemmgog®o gbdEm®dL U: T — Ay gfimogods gbogzgdlomymo oy
6go0b3ogMo bbgo H-Bbo dmdmmmgon®o g1bddmcdo G gomogdmo Babpo G
B90JH™M0b ogmom BoJHrMEgos:

1—>‘21U

R

,008003000" 3MIMEM®Z0YM0 0eMag0ce Ay O H-8oOEMO0m0 ddmemMagogMo dmagomo
T-bg U-L 308mygbgdom 030300900.

330 ™3d, H-3m3mmgoy®o godmmgmgdo -0 Ay-Bg 3e00L039M dmIMmmaond
399mm3mgotg 809g306900.




300mygbgoo

P> Lbgoolbgo AR 30Hggm®0goo —> Lbgowolbgs Ggmggzebyamo dmdmmmaoyto
d0obemmgdgoo.

P> 093600 ,,303MMgoYdo d9bgool” godmmgmo dgodmgos Ay-3o hogo®dwg.
307993 gL M3moo J3939%9g3MmMoolmzgol C C T 0mbgosl anbdymdo

T Y Funct(C°, Ab)gountable = Mod(C), A (T(C, A))ece

d®0ob PboggdLac Mo Y-HgbEo dmdmmmgogdo a3bdEmdo.

doYBobo
LH®o© 03mzoMPomMm o 3odMgmzgommm Jgg391gammdos C.




30dmygbgool dogomomo

3ob3obommm 360060l 4-%3199300
V=27/2x7Z/2={ab|a®=b*>=(ab)®>=1}
033 MIMMe0Bdgdom ImJdgogdgdo C*-omagodgoty.

3abog®o 998mbgzgzoL 0bomMgo Mo, 33031 Yb03gOLOMYPYE FoLIdMMZOL FoBHIeM®0
ARY.

©9mg396H9m0 J39308930mM00 C, V-b J39x3983900b g3gmo 3Omgdpogmo FomInwagbgoomos
0bgdbodgoymo.
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ogd C 8930Lggm 03oBMYOgOL ©3309Ma300mgdL.

07 00393 J00m0© gobgzobomogm, 2-8g mmZomobgonm 3oBgam®ool Rﬁfp
30bLOBM3zMgoo

Ob(ﬁﬁ:‘l/p) := {bg3oModgmygdo C*-omggomgoo A, B, ... };
Morgqv (A, B) == KK(A, B)" @ Z[1/2].

80806, cmzomoBgdgmo C ® Z[1/2] 8000gdl 9gdwga Lobgl:
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C ® Z[1/2] Bop®oEamo ®3mmgool 30H©s30M0 633Mo3m00, 830Emd dobo d3mdmmmgon®o
3068mdoemgods ghmol Hrmos. dgLodsdobow §g830M0E0o:

96039MLOYM0 3ga03090HJO0L MgMEIgdo

00399300 A ©o B 2-¥g gogmaowo V-C*-0emgago®mgons. ©o39dg3om obggg A 3003gmo $o3ol

03 g0M0. 80806 ggod3b 8980930 Z/2-gma©0Mgo7wmo 00990 x3983900b dmzmg BbEo
000009360 M00

0— Extélv/z(Y*_l(A), Y.(B)) — KKY (A, B) — Homey (Yi(A), Y.(B)) — 0.
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